£ oo
(azj Or Sl
- HANYANG UKIVERSITY

TCP A =21 1

[
3H
ofop 2
A1 ofm
HA =
|la
[>

Hanyang University — Computer communication [ 2018 ]



1. Tcp &7

| T2 a0 XA

== R |

TCP A3 D=3 AdMH Z=]3)

Q otzfet

Z0| TCP2Z echo A|HH =2 151 XHAd

Q tcp_serverl.c ItY £ X/ (gedit tcp_serverl.cE & ALE)

#include
#include
#include
#include
#include
#include
#include

#define
void err

int main

{

<stdio.h=
<stdlib.h>
<string.h=
<unistd.h=
<arpa/inet.h=
<sysftypes.h=
<sys/socket.h>

BUFSIZE 1024
or_handling(char * message);
(int argc, char ** argv)

int serv_sock;

int clnt_sock;

char message[BUFSIZE];

int str_len;

struct sockaddr in serv_addr;
struct sockaddr_in clnt_addr;
int clnt_addr_size;

serv_sock = socket(PF_INET, SOCK_STREAM, 0);

if(serv sock == -1)
error_handling("socket() error");

Z

Hanyang University — Computer communication [ 2018 ] -2-

© R

HANYANG UHIVEREITY



TCP A3 D=3 AdMH Z=]3)

O Of2iet Z0] TCPA 7 echo M =274 XHd

memset(&serv_addr, 0, sizeof(serv_addr));
serv_addr.sin_family=AF_INET;
serv_addr.sin_addr.s_addr=htonl(INADDR_ANY);
serv_addr.sin_port=htons(4880);

if(bind(serv_sock, (struct sockaddr*) &serv_addr, sizeof(serv_addr)) == -1)
error_handling("bind() error");

if(listen(serv_sock, 5) == -1)
error_handling({"listen() error");

clnt_addr_size = sizeof(clnt addr);
clnt_sock=accept(serv _sock, (struct sockaddr*) &clnt addr, &clnt_addr _size);

if(clnt_sock == -1)
error_handling("accept() error");

while((str_len = read(clnt_sock, message, BUFSIZE)) != 08) {
write(clnt_sock, message, str_len);
write(1, message, str_len);

close(clnt _sock);

return 0;

}

void error_handling(char * message)

fputs(message, stderr);
fputc('\n', stderr);
exit(1);
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Q tcp_clientl.c T} Y =2 =

#include
#tinclude
#tinclude
#include
#include
#include
#include

#define
void err

int main

{

<stdio.h>
<stdlib.h>
<string.h=
<unistd.h>
<arpafinet.h=
<sys/types.h=
<sys/socket.h=>

BUFSIZE 1024
or_handling(char * message);
(int argc, char ** argv)

int sock;

char message[BUFSIZE];

int str_len;

struct sockaddr_in serv_addr;

sock = socket(PF_INET, SOCK STREAM, 0)
if(sock == -1)

error_handling("socket() error");

memset(&serv_addr, 6, sizeof(serv_addr));

serv_addr.sin_family=AF _INET;

serv_addr.sin_addr.s_addr=inet_addr("127.

serv_addr.sin_port=htons(4008);
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Q tcp_clientl.c T} Y =2 =

if(connect(sock, (struct sockaddr*)&serv_addr, sizeof(serv_addr)) == -1)
error_handling("connect() error");

while(1) {
fputs("Input message (g to quit) : ", stdout);
fgets(message, BUFSIZE, stdin);

if(!strcmp(message, "q\n")) break;
write(sock, message, strlen(message));

str_len=read(sock, message, BUFSIZE -1);
message[str_len]=0;
printf("Message from server :%s \n", message);

¥

close(sock);

return 0;

1

void error_handling(char * message)

fputs(message, stderr);
fputc('\n', stderr);
exit(1);
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O gcc -o tep_serverl tcp_serverl.c2}

O gcc -o tep_clientl tep_clientl.c FHHE tcpZ 2174 Hup
O AlSH DY A A 30|

(< N sjhong@ubuntu: ~/proaram

sjhong@ubuntu:~/program$ lacc _-o tcop serverl tcp serverl.c
sjhong@ubuntu:~/program$ gcc -o tcp_clientl tcp _clientl.c
sihono@ubuntu:~/program$ (s

|t::p clientl tcp _server.c udp echo client.c udp_test2
ren claienti ¢ techo _client.c udp_echo_server udp_test2.c
|tt:p_server1 techo_server.c udp_echo_server.c udp_test.c
tcp serverl.c udp_echo_client udp_test
sjhong@ubuntu:~/program$ |
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sjhong@ubuntu: ~fprogram

sjhong@ubuntu:~/program$ ./tcp serveril
asdf
asd

sjhong@ubuntu:~/program$ ./tcp_client1
: asdf

Input message (g to
Message from server

Input message (g to
Message from server

Input message (g to
Message from server

Input message (g to
Message from server

Input message (g to

quit)
rasdf

quit)
:asd

H =

gquit) :

quit) :

quit) :
e

: asd
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sjhong@ubunku: ~

net_tx_action
net_rx_action A
net_rx_action A
net_rx_action A
tcp_sendmsg_locked
tcp_push
tcp_write_xmit
tcp_transmit_skb
ip_queue_xmit
__ip_local_out
ip_output
ip_finish_output
ip_finish_output2
__dev_queue_xnmit
net_rx_action AA
process_backlog
__netif_receive_skb_core
ip_rcv
ip_rcv_finish
ip_local_deliver
ip_local_deliver_finish
tcp_v4_rcv
tcp_v4_do_rcv
tcp_rcv_established
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